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(General)

Paper Code : VII - A & B

Full Marks : 60 Time : Three Hours

Paper Code : VII - A

(Marks : 20)

Choose the correct answer.

Each question carries 2 marks.

1. The open loop gain of a OP-AMP is about —

(A) 105

(B) 103

(C) 102

(D) 1

1. OP-AMP

(A) 105

(B) 103

(C) 102

(D) 1

2. Positive feedback —

(A) Makes the gain unstable

(B) Reduces distortion

(C) Increases bandwidth

(D) Reduces noise
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2.

(A)

(B)

(C)

(D)

3. If the gate current is increased the forward breakover voltage of an SCR —

(A) Increases

(B) Decreases

(C) Remains same

(D) None of these

3. SCR

(A)

(B)

(C)

(D)

4. In TV system to carry visual signal we use —

(A) AM only

(B) FM only

(C) PM only

(D) both AM and FM
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4.

(A) AM

(B) FM

(C) PM

(D) AM  FM 

5. Compared to a coaxial cable, which one of the following is not true for optical fibres —

(A) Small in size

(B) Light weight

(C) Small bending radius

(D) Small band width of signal

5.

(A)

(B)

(C)

(D)

6. In computer terminology 1 K byte is equal to —

(A) 103 byte

(B) 210 byte

(C) 28 byte

(D) 216 byte
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6. 1

(A) 103 byte

(B) 210 byte

(C) 28 byte

(D) 216 byte

7. The phenomenon responsible for light propagation through optical fibre is —

(A) Total internal reflection

(B) Refraction

(C) Diffraction

(D) Rectilinear propagation

7.

(A)

(B)

(C)

(D)

8. Which of the following is an invalid state of a BCD decade counter ?

(A) 0010

(B) 0101

(C) 1000

(D) 1100
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8. BCD

(A) 0010

(B) 0101

(C) 1000

(D) 1100

9. Which of these can be used to measure the lowest pressure range in vacuum system ?

(A) Mcleod Gauge

(B) Pirani Gauge

(C) Penning Gauge

(D) All of the above

9.

(A)

(B)

(C)

(D)

10. Which header file should be included in C-program for addition operations ?

(A) Conio.h

(B) Stdio.h

(C) Math.h

(D) None of the above
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10.

(A) Conio.h

(B) Stdio.h

(C) Math.h

(D)

_____________
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Paper Code : VII - B

(Marks : 40)

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Answer four questions, taking at least one question from each group.

Group A

(Electronics  - II)

1. (a) What are the important charactertics of an oscillator ? 3

(b) Determine what condition must be satisfied to have self-sustained oscillation. 3

(c) How is an OP-AMP circuit used for integration and adding operations ? 2+2

2. (a) What do you mean by sequential circuit ? Explain the working principle of decade
counters. 2+3

(b) What is demultiplexure ? Explain its operation. 3

(c) Discuss how a transistor is used as a switch. 2

3. (a) What is encoder ? Explain with necessary logic circuit the working of a BCD encoder.
1+3

(b) Draw the circuit diagram of an active low pass filter. 2

(c) What is silicon controlled rectifier (SCR) ? Define

(i) breakover voltage

(ii) holding current and

(iii) forward current rating of an SCR. 1+1+1+1

Group B

(Machine and Energy Sources)

4. (a) What are the factors on which the efficiency of a vaccum pump depends ? Explain the
effect of these factors. 5

(b) Discuss briefly the construction and principle of operation of a Mcleod gauge. 5
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5. (a) What is meant by thermal efficiency of a heat engine ? Obtain an expression for it.
1+3

(b) What are the differences between an Otto cycle and a Diesel cycle ? 4

(c) What is brake horse power ? 2

Group C

(Communications and Computers)

6. (a) What is modulation ? What are the different types of modulation ? What are the
necessity of modulation in communications ? 1+1+2

(b) Obtain an expression for the frequency spectrum of FM wave and discuss graphically.
4+2

7. (a) What is optical fibre ? Discuss briefly how optical fiber is used as communicating
medium. 1+4

(b) State the importance of acceptance angle and numerical aperture of optical fibre. 2

(c) The core of an optical fibre is mode of flint glass and its cladding by crown glass. The
refractive index of flint glass is 1.55 and that of crown glass is 1.51. Find the numerical
aperture and acceptance angles. 3

8. (a) What is the difference between “while...do” and “do...while” commands ? 2

(b) Write a C-Programme to arrange twenty (20) numbers in ascending order. 4

(c) Why RAM is called volatile memory ? What is computer bus ? 2+2

1. (a) 3

(b) 3

(c) OP-AMP

2+2
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2. (a) 2+3

(b) Demultiplexure 3

(c) 2

3. (a) BCD 1+3

(b) 2

(c) (SCR)

(i)

(ii)

(iii) SCR 1+1+1+1

4. (a)

5

(b) 5

5. (a) 1+3

(b) 4

(c) 2

6. (a)

1+1+2

(b) FM

4+2

7. (a)

1+4
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(b) 2

(c)

1.55 1.51

3

8. (a) “While...do” “do...while” 2

(b) (20) 4

(c) RAM 2+2

_____________


